Amendment Conflict Tie Amendment

A necessary and legal way to solve conflicting amendment votes.
Solving votes and constitutional crises where 2 amendments at the

same time change the same things.

Section 6: Amendment/Constitution Contradictions

A. If an amendment contradicts the constitution in any way,

B.

the amendment will overrule the constitution.

If there are two or more amendments which tries to change

the same section of the constitution or otherwise

conflict, only one may be passed.

a.

Cc.

The Moderation with a 2/4 vote will decide which
amendments are guilty of this. This decision can be
revoked by the Supreme Court with a 50%-vote.

. Which one passes will be decided using the following

procedure: At the same time, as all of the

conflicting amendments go through a standard

approval vote (66% required). If more than one of
the amendments are approved, the one with higher
approval percentage pass.

i. There shall also be a FPTP vote among them,
where in case of the highest approved
amendments have tied approval percentages, the
one with the highest amount of FPTP votes of
the tied and approved amendments will pass.

An amendment rejected by the public, may be be put

to a new vote through a petition at a later date. It

should be readapted to the new constitutional
changes though.
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